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Part - III
oidleflwed / SCIENCE

(50 wHHID 9piifle aufl / Tamil & English Version)

[ Qurss UGS : 75

ST 2ieTay : 2%z ewfl CHrw ]
[ Maximum Marks : 75

Time Allowed : 2%2 Hours ]

Sdlaenrast : (1)  imabg elanmbaEbd silwing oFsal LSleurd] 2 GTETSHT GTEuTLISEmE
| siuriégé Qsraera)b. FsuLSeld Gopuimulea D@ns
sansrasiureTilLb 2 L anquirg Gsflefésa)n.
2 Beon <dez smGUY ovloa wLEGCL TWEHUSHEGED
<3 5CsMgHeusHEL LwaU(Ss CouamBbd. LLhisET ) YNNG
Quendled LWETUHSSELD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

Gl : @eaalamggrer epeiml Wflejsemend Asra g,
Note : This question paper contains three sections.
9fley - I/ SECTION - I
(wdHUQueiraer : 15) / (Marks : 15)
@iy : () @Udfeld 2 drer 15 ellamésE@REEGD aflenLwefl&sayb. 15x1=15
i) <oLuys gl Qsr®&sUULHerer wrhmn eflemLsaid
Baayd sflwurer efenL ey CHTHASHSS 6T (WpsayLb.
Note : (i) Answer all the 15 questions.

(i) Choose the correct answer from the alternatives given in the brackets.
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1.  Euperereupmiar Lmrbuflug Semento QerarrLg) 78l ?
(oyugyl wrHPHL QeiwuiulL bsem,
saaSyeSley gy LIHOLD QLT e,
Caréd Qadeiey FuED WIHOLD QauiulLened,
LTeig & Qaeedléd UG WIHDLD QawiulLéenal.)
Which of the following is inheritable ?
(an altered gene in sperm,
an altered gene in liver cells,

an altered gene in skin cells,

an altered gene in udder cells.)

E(peTeTauDmIET LITLDLICH] Crmi) SHOOTES) TSI ?
(sra&flur, Lejen G@pUT®. i@Aoi Gpmil, afGomIeiur)

Which one of the following is not a hereditary disease ?

(Thalassemia, Down'’s syndrome, Alzheimer’s disease, Haemophilia)

3. san(hed B LDL{&6T GTEITLIGNGY :

FLbL&ET, @QUWES BITLDL|EET, SLILY BrbLEeT, apeaGur® Qe

(o_euTT&8] B
QepewTHE ETaTENE )

Spinal nerves are ______-

motor nerves, mixed nerves, innervating the brain)

(Sensory nerves,

24,5 LIYEDSI.

4. soaypp G G
(Qens, safl, SHReTe, Quflsmiriy)
During post fertilization, the ovule changes into a/an

(seed, fruit, endosperm, pericarp)
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ordls o anaflladr _ upsemerl Lwau@Rgd milssmss AP&Ems).
(Qeut_ @b upseT, Gamery UDSET. (P SenLaumiiLs umser, e sepLeumiiL
UDHSE)

teeth to tear flesh.

Carnivorous animals use

(incisors, canines, premolars, molars)

Uspsratisais sramiu®b ‘s amay 2 pUSHS QsmAheTeasar
e SsasLBHEDS!:
(ewol_GLramairg flwim, Lsngaan, erarCLmierrs cuene, 2 L&)

of green plants are called ‘factories of food production’.

(Mitochondria, Chloroplasts, Endoplasmic Reticulum, Nucleus)

QuIEBBEETE®S HaTHLIGEERD.
(209 pOSADTED, LEME L&, > 19f e, QUL Grredlwib)

Find the odd one out.

(bio-alcohol, green diesel, bio-ethers, petroleum)

fans Hevaero + Wflans ean &b =
(2_GTelos EMTED, FmPIDs Farse, ASTHED, SIDAGFID)
Dispersed medium + Dispersion medium =

(True Solution, Colloidal Solution, Suspension, All)

[ mUuys / Turn over




1630
4

U] Méoantt wnmr’ Gy’ s €
' ] elf . 1t # Y y . P . - =
‘ PL2eyl oppno Gangund mGeaneny(y fis soysbsmes swsss
Gy ity
) GiLpIIIg & 2 : -
Wlgey v anguinss Sen_s8ms).

(Wleaeirenar, D@ LA, Keu'sy, o)

When aque i 5 i
n aqueous solution of Silver Nitrate and Sodium Chloride are mixed,
precipitate is immediately formed,

(white, yellow, red, blue)

10, Wlenampen Cleuwus UwenuBHElms.

(eumirnlpibLy, 6ro«@, GCaeflmby, s o..e)
is used in making electromagnets.

(Pig iron, Steel, Wrought iron, Nickel steel)

1. &L GLrensefllen eflenan@swe QsrEs.
¥
(-=OH, —CHO, >C=0, —COOH)

is the functional group of ketones.

(—OH, —CHO, >C=0, —COOH)

12. @i gafl e eramig _ aED

(365.25 X 24 X 60 X 60 X 3 X 108 8, 60x60%3x108 18, 1x24x60x60X3X10°% 15,

360 X 24 X 60 X 60 X 3 X 108 15)

One light year is equal to

(365.25 X 24 X 60 X 60 X 3 X 108m, 60X 60X 3X10%m, 124X 60X 60% 3% 10%m,

360 X 24 X 60 X 60 X 3 X 10°m)
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13. ‘G’ -@ein erar i :

673 x 1011 L) _
(6:673X 107" Nm%kg=% 6.673X10711 Nm2kg-2, 6673 %1011 Nm~2kg~2,
6.673 X 10~ 11 NmZkg?)

The value of ‘G’ is :

11 21 -2 _
6.673 X 10~ 11 NmZ?kg?)

14. @@ spfle 10 V Blaarwss Cagur@earea @m yaralsemsdarCu 2 C
e Lgeos Beiss GelwiulL Caueme wrg ?

(5],20],02],2])

How much work is done in moving a charge of 2 C across two points having a potential
difference 10 V ?

(5J],20],021,2])

15. apdle umyw BaGeamiLgder Sesew LIHHlLMLEGD (el

erenu(hLD.
(Geumédl BULT, SibBL LI, Hens wmpdl. Blam wrdil)

A device that reverses the direction of flow of current through a circuit is called

(Voltmeter, Ammeter, Commutator, Transformer)

[ $miys / Turn over
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8ifley - IT / SECTION - II

(wHLiQuaser : 40) / (Marks : 40)
@mluy : sewaCuaind @ous damssases ofomLwaflésay. 20x2=40

Note : Answer any twenty questions.

16. 2.1 & eped Qewser ardHamng Qupli@eaman.

Name the sources of somatic stem cells.

17. bW WM 6Teré SeRrL_Mls.
(i) mmer, umeigd Caellern 2 1 smeflenar, e SSlen sl GLmGeatresdl
Cerg&asliLl B e eueriliy smuiar smalld uduliulLgrd GpbGge.
(i) SEUYS erengyd Qerp@orieny 2 Heurdsdl sHLILE Qamdrenssamar
Qeuafluf_HerGerer.

Find out who am L
(i) Iwas born when the diploid nucleus of the udder cells injected into the cytoplasm
of the enucleated ovum and implanted into the uterus of the surrogate mother.

(ii) I coined the term vaccine and vaccination for protective inoculation.

18. Gamgl L @ msemer Hlrliys.
() 2uifs Asmble mueSiud ppaod swrflssiu L sHogd 5
adlra upgent 1pgeiler LwETUHSSILIL LS.
G oulfs Qaromu eeapude Qupiu@n _ Quiafefwey
Qrs56sTens GCHIenE GaOT&SsL! pweL B Sma).

Fill in the blanks :
(i) The first vaccine which is produced by Biotechnology was used against

(i) Biotechnologically synthesized ______ is used to cure pernicious anaemia.



19.

21.

22.

7 1630

T SIS ITAT) (S;hnufﬂdﬂ 9N GH&6r wraney 7

What are the symptoms of malaria ?

sniGumyr @eur_NAgulen erammrd erener 7 DI GTHEMEWI et & (@L 6

QBTI_TLjenLwig ?

What is Corpora quadrigemina ? Name the functions associated with it.

QarHEsILLHETeT LSS UMTHS UNEEGmans @mHédse,D.
Draw the given diagram and label the parts,

GareLs srasde ifswnrs euissng.

e EINIL) Bir efwireneu P QLD
QauafCuinpliueausrd Anbren GonoHS
ojerey Snibeny QeauefCuHmEmS).

(1) (A) L (R) @ram@o &f. (R) %@ (A) -8 flensEEng.
rar@Hb &f. e (R)Aag) (A) -3 efersmafldvena.

2_eurTEnIDG SH(HSS (A)

snyevorid (R)

(<) (A) oD (R) §
(@) (A) wBGLW gfl; g emmed (R) U
() (A) geum; 2bemed (R) &fl.

Assertion (A) In summer, we sweat more.
Reason (R) : The kidneys expel less urine, since much of water is lost in the

form of sweat.
(a) Both (A) and (R) are true and (R) e
(b) Both (A) and (R) are true but (R) doesn’t explain (A).
(c) (A) is true but (R) is false.
(d) (A) is false but (R) is true.

xplai.rls (A)-

[ Hmpuys / Turn over
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23, Spibrssen far Qour s CHMDDU LLib cuephe Lnshismard GHEFAD:

Draw the LS, of kidney and Jabo] the parts.

24. UTEMVGTF GLpedled QUMD UL g1p Qupmerer g)g;ajemmgugmﬂgb ;_r,rreisreﬁ]mem&
GHUNPs.

Mention any four adaptations seen in the Camel so that it can live successfully in deserts.

25. ue Qe =2 WAsale &nCmm_ LarLwsHhE a@GaI® POD o6
Cummpsrs) 2

Why diffusion process is not suitable for transportation in multicellular organisms ?

26. wLGanamflsedr erenmmed ereean ? Qran® THSHEET.HS6T M.

What are Saprophytes ? Give two examples.

27. &G QarR&siiLl_(Herer oar Repp&CeTT(H), 246umh e iy 2 MILILEE6TS
565 T(HSGEST_HL6nr Qurpsss.

SMETiL 2L penm | eanw&Caranrar Gouiser SCVEWLL L |
QL (Hawsenilaer L&HFWLD Go mGerm Gy
. - __‘_‘-_-__‘_-___-__-_-__
oL (g emanflaer ammevGL mifluw riger enam Qev e

Match the methods of nutrition of special organs with suitable examples,

Autotrophs Mycorrhiza Cuscuta
Parasites Chlorophyll MO_nDtropa
Saprophytes Haustoria _Hibism;s




28.

29.

30.

31.

32.

1630

g@@hs‘ﬂ' g_-m . .

oy gmidledlently Lilgd . . o
LOTOMIG. W58 POPULGGS, Sigmer 200D Grblrs
oL - Gmed - sbualluyFs —» umbs.
Stud .

y the food chain below, correct it and convert it into a pyramid of energy.

Mulberry — Sparrow — Caterpillar - Kite.

lGﬂ . il . F

anL_yeer ¢h B WTHD erAQum(m(eh&s me WS smsUIL OV
ere ? '

Why ‘Hydrogen’ is considered to be the best choice among all the alternative fuel

options ?

$mbul U @uerg GETLD eranLg @f Qupes cuarid. @sean wafls
Lpedarmea 15 etor ()LD

) & el i CoussamselL W05 Gaswre Qupms B

o (HEUTESTLD.
GLo & &L sapepll LGES, sALTEST SADOG SAUDTEHST cramueng 2 mis
Qels. 5D @@‘rbg,rrd) Fhlwiren gaplerens dis.
urce is a natural resource. [t can be rep]aced by natural process

A non-renewable reso
consumption by humans.

ual to or faster than its rate of

at a rate eq
t or incorrect. 1fitis incorrect, give the

Read this statement and say whether it is corTec

correct statement.

o migeT 6305 gla ey creual N LweTLHSgIelTaeT ?
use the waste water in your houses ?

How will you 1€

G Qeraflwe @uissD erempmed Ereme ?
What is called Brownian movement ?
[ Spous / Turn over
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34.

35.

36.

10

Gamg e @ himaen Ny,
ST Sen I ST (V1 ()
:},’\}u'\'hl T L) 605

Bt Bhens,
Fill in the blanks :
Solute Solvent Example
Solid s Smoke

Solid Cork

Wlareugnid s pmisafldy geauemmd G bs Hmbeis.

) 2x@uy gpodsap Bla =96l @i

(i)  ST.P. - ) eumyeller Goremt Lgmwer 22.4 Q.53
[dentify and correct the mistake if any :

(i) 2XR.M.M.=V.D,

(i)  The molar volume of gas at STP is 22.4 cm?,

R sl mangrréma® Swelllar Qedley 1.0x10-8 M erafcy, D|G 60T
pH wéliy eremer ?
The hydroxide ion concentration of a solution is 1.0x10~8 M. What is the pH of the

solution ?

SpsaTaib elleans(@heT 678 KoL CUDTE ? Sryeawid Fa )5

(i) FeSOy+Mg — MgSO, +Fe

(i) ZnSO4+Cu — CuSO, +Zn

Which of the following reactions does not take place ? State the reason.
(i) FeSO,+Mg — MgSO, +Fe

(i) ZnSO4+Cu — CuSO +Zn
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P 3] v
37, ogblalu e Gorsds  soma, argrdlufen  Lrsmisar  swrflas
LTI E D! <OIH DTG HITT T hI S COerTd; Fap @D

o design the body of an aireraft, aluminium alloys are used. Give reasons,

38, Qan@OEsiud Garan LSS QUThsl Limrsisamend: @iDisaib.

Draw the given diagram and label the parts.

b I

39. e nHluuBEse0 @ siflod Gsinoiisefl® o erar WenemriLser ssllenanriiLg

garend CsmeTL ey,
&1 Ueemlurers oianele)drer 6redl renser
LBS®eusted ghubhHng.

Qar@ssiu_[Herer srramd 2 NFHULGSHUSHEL CUTgiLTasTs o rarsT ?
Chemical bonds in organic compounds are covalent in nature.
Covalent bond is formed by the sharing of electrons in the bonding

SITTEUITLD :

Assertion :

Reason :
atoms.

Does the reason satisfy the assertion ?

40. spglrmuen - 1 HILL§CsmH Qsriyeniw fo Hnaamisaicr Quuiseda $Gip
Qar®ssLul[Herarear. g amad S QUuiTsET AmauGur® Asrnddorsame.
Qernldeors Hneuamiseaia Quuismarl UL Gua(s.

(ISRO, BARC, NASA, ESA, WHO, ONGC)
List out the names of the grganisatjgns which are not associated with Chandrayaan - 1

mission from the following :
(ISRO, BARC, NASA, ESA, WHO, ONGC)

[ $miys / Turn over
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41.

42,

43.

44.

45.

46.

12
Quibiélé Q& marTig (HES CTDET.

QM sars eurseamiser, RCr HesGaussdled
@aupdled eThH

SAED @ey sy, LHOmrenmy smadlumeEaLd 2 _cTeTdl.
ursaIEms HnssieusnE 28s ens G’g,sﬁ:suuu@aﬂgpgl ?
Two similar trucks are moving with the same velocity on a road. One of them is loaded

while the other is empty. Which of the two will require a larger force to stop it ?
m Blanafloré@ 240 V ilanafluply_dr @eamésliul BETaTg! [SemGemmLLLD
0.65 A erafled, Wleim elleTéflen Hmer wimg) ?

An electric bulb is connected to a 240 V generator. The current is 0.65 A. What is the
power of the bulb ?

STHOHTHDE LIWIGTLTL g6 GUFLDLEET Wreneu ?

What are the limitations in harnessing wind energy ?

LL &Sl AB paansEhsE @eLGw edar Asr@uwen WagmL WwHllmus

& TS,

Find the effective resistance between A and B in the given circuit.

20 2Q)
A e L AAAA— %B
AAAA-
10 10

Qavenélér Fper euenTwm. SiGen SOMES Fnls.

Define Power of lens. Give its unit.

AC Waraflwpileniws DC Wlamafuphluimes GTEUUTDI OTDMmayTH 2

How can an AC generator be converted into a DC generator ?
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47. DDl (A) : WPUULLED @)% By el Qeucr@ermrafludle
<D L 1b e UOGaugy cuamamriisearts 9fesweL W&
Qe g,
onyewie (R) : @Qu, gafl aHQrreliiGeamed gpuGADE.

(1) (A) wpyd (R) o, (A) -8 sflwrer eengasibd (R).

(<) (A) wpmid (R) &M, (A)-6@ (R) slwrer edarésid @ida.
(&) (A) saup) (R) &,

(rF) (A) wHpd (R) @raw@d seupy.

Assertion (A) When white light is allowed to pass through a prism, it splits

into seven colours.
Reason (R) : This is due to reflection of light.
(a) Both (A) and (R) are correct and (R) explains (A).
(b) Both ]A) and (R) are correct but (R) does not explain (A).
() (A) is wrong (R) is correct.

(d) Both (A) and (R) are wrong.

19fley - 111 / SECTION -III

(o @Queirser : 20) / (Marks : 20)

@y : (1) gpeuleur(m LEHWIS mBSID R e eigld BI6N(E) Gﬁsmrré;s;@é;?ﬁ:m
| aSenLwafl&sEeyL.
(i) Copaeuwmar @Liisafld LLLD QUETS.
Note : (i) Answer any four questions by choosing one question from each part.
(i) Draw diagrams wherever necessary-

smiEse GNss Aflaurs RILEICES

48. enlo.umii®

Explain elaborately about Typhoid fever.
[ Smiiys / Turn over
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49. LD iewo@| BIby e eddener eflend@s.
Explain the Peripheral Nervous System.

U@S - IT /PART - II

50. QmeilsHlaas sreur elensulen janiolienL afeufl&saLb.

Describe the structure of a dicot seed

51. @aré Gobleow war_wdsen Sagsenar efleulésayLb.

Explain the components of Pond eco- system

L@&gl - 111/ PART - II

oplGrr Seflefler Couy w@HBSTEL LWETLEHDS. quq.g,g,su alen TS & mesT

52.
FLoerm().
4 C3H;5(NO;); — 12C0,+10 HyO+6 N, +0,
{ (8) ) (8 (8)

(Siamibflenp C=12, H=1, N=14, O=16)
(1) @&swenum_igd Qereumeuamaupien Coraseien eramanilsens wng ?

() el Crr deflefen

(i) 2 (HEUMET QUL (LPEDEEn M)&HET
(=) @ Guore eplCrm a‘ilaﬂ&nﬂenﬂaﬂ@mgj ﬁml_aa(g)m cury Cumréseflar

cTanTentlGEenE Wmg ?
(@) e Gurd apl Grr feflsfafiler flep wrg ?

Nitroglycerine is used as an explosive. The equation for the explosive reaction is :
4 C3Hy(NOy); — 12C0,+10H,0+6N,+0,- |
on @ O & ®
(Atomic mass of C=12, H=1, N=14, O=16)-
(a) How many moles does the equation show for
(i)  Nitroglycerine

(ii) Gas molecules produced ?
How many moles of gas molecules are obtained from 1 mole of R —

(b)
(c)

What is the mass of 1 mole of nitroglycerine ?
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3. (&) Sidmadidr erdipred ereiren 2 R TOSHIESTLH S

54.

55.

(<) R yDmsaiar ppas .
o LpuSFD ‘@SWD 54 craflen, DB POHTaN) QTN

(@) What are alkynes ? Give an example

v)  If the molec ] S
¢ ecular mass of an alkyne is 54, then its molecular formulais .

u@E - IV/ PART - [V

(=1) A m[é)ﬁ%jlm Té;]ﬂﬁﬁlml-@(l_'p -QLJIT(I_’DI_'_&G?I o drarar. Sipsaari. Giphloasaiido
Qe QuIBLaEEsE QeorCGuurer elms craiairp WOIHHID

S Epg ?
(i) A -en Hlevp @riigrium@d Qurga).
(i) A wpmid B -5@ QeLGw o drer Aprenea) @rLiglunEd Qs
(i) A wpmid B @ramger Hlepud Qriglur@d Qurps.
(=) ‘g’ wHOID ‘G’ -5 Qer-Guwiren Qg ity wrg ?

(a) A and B are two objects. What happens to the force between two objects, if ;

(i)  the mass of A is doubled.
(i) the distance between A and B is doubled.

(iti) the masses of both A and B are doubled.

(b) What is the relation between ‘o’ and ‘G'?

(1) Garars Splgsafld gafl rdlQrraflgsasne GO D WwrLsdT wrema ?
&Sl Wmg &6, arsaisalan LEsaIT 1@ QUITEGHSSLILIRD & TaoriTiq L
gar Lwatu®Eng ?

(@) Write the sign convention for re

flection by spherical mirrors,
view mirrors in vehicles ?

(b)  Why convex mirrors are used as rear-

-000"



